[image: image1.png]Problem 8. Suppose that an insurance company classifies people into low, aver-
age and high risk persons. Their records indicate that the probabilities of being
0.15 and 0.30 for low, av-

imvolved in an accident over a l-year period are 0.0

erage and high risk persons, respectively. Assume that 30% of the population is

low-risk, 50%, is average-risk and 20% is high-risk.

(a) What proportion of people have accidents in a fixed year?

(b) John Doe had no accidents in 2004, but his wife Jane did. What are the

probabilities for each of them to be low

isk persons? Average-risk? High





